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1 QUHSAHIF 214H| 12,472,717 0 0 315,384 114,157 12,902,258
2 QUHSAH = 214H| 12,472,717 0 0 315,384 114,157 12,902,258
3 QUEHSAH = 21H| 12,472,717 0‘ 0 315,384 1,149,871 13,937,972
4 QUHSAHF 21H| 12,472,717 0 0 315,384 1,149,871 13,937,972
5 QUHSAHF 21ZH| 12,472,717 0 0 315,384 1,149,871 13,937,972
6 QUAHSAHIF 23| 12,472,723 0 0 315,392 114,165 12,902,280
7 QUALSAHIF 23| 12,472,717 0 0 315,384 483,715 13,271,816
8 QUHSAHIF 2| 4H| 12,472,717 0 0 315,384 114,157 12,902,258
9 QUYEHSAHIE 21 4H| 12,472,717 0 0 315,384 1,149,871 13,937,972
10 QUHSAHIF 214H| 12,472,717 0 0 315,384 483,715 13,271,816
11 QUEHSAH = 214H| 12,472,717 0 0 315,384 114,157 12,902,258
12 Ar2|=A[AL 21H| 12,472,717 0 0 315,384 114,157 12,902,258
13 QULSA 1T 21ZH| 12,472,717 0‘ 0 315,384 1,149,871 13,937,972
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